
Q.1 Which of the following numbers will replace the question mark (?) in the given series?
10, 20, 11, 22, 14, 26, 19, 32, ?

Ans 1. 26

2. 29

3. 28

4. 32

Question ID : 26433069047
Status : Answered

Chosen Option : 1

Q.2 Three statements are given followed by three conclusions. Assuming the statements
to be true, even if they seem to be at variance with commonly known facts, decide
which of the conclusions logically follow(s) from the statements.
Statements:
All blacks are blues.
All blues are pinks.
No pink is a green.
Conclusions:
1. All greens can be blues.
2. Some pinks are blacks.
3. All blacks are greens.

Ans 1. Only conclusion 1 follows.

2. All conclusions follow.

3. Only conclusion 2 follows.

4. Only conclusions 1 and 2 follow.

Question ID : 26433089421
Status : Answered

Chosen Option : 3
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Q.3 If ‘+’ means ‘-’, ‘-’ means ‘÷’, ‘÷’ means ‘×’, and ‘×’ means ‘+’. Which of the following will
be the value of the expression?
125 – 25 ÷ 3 + 14 × 36

Ans 1. 43

2. 48

3. 37

4. 35

Question ID : 264330114181
Status : Answered

Chosen Option : 3

Q.4 Which two signs should be interchanged to make the below equation mathematically
correct?
40 + 14 ÷ 35 – 30 × 15 = 1

Ans 1. + and ÷

2. + and ×

3. – and +

4. ÷ and –

Question ID : 264330117510
Status : Answered

Chosen Option : 2

Q.5 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1. Stool
2. Store
3. Stair
4. Strong
5. Stream

Ans 1. 3,1,4,2,5

2. 3,1,2,5,4

3. 3,2,1,5,4

4. 3,1,5,4,2

Question ID : 26433069269
Status : Answered

Chosen Option : 2
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Q.6

Ans 1. H

2. K

3. I

4. J

Question ID : 26433085510
Status : Answered

Chosen Option : 4

Q.7

Ans

1. 

2. 

3. 

4. 

Question ID : 26433076493
Status : Answered

Chosen Option : 4
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Q.8 Which of the following numbers will replace the question mark (?) in the given series?
6, 8, 13, 15, 27, 29, 55, 57, ?

Ans 1. 111

2. 101

3. 102

4. 110

Question ID : 26433069117
Status : Answered

Chosen Option : 1

Q.9 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.
9 : 3 :: 243 : 9 :: 6561 : ?

Ans 1. 81

2. 17

3. 27

4. 12

Question ID : 26433069415
Status : Answered

Chosen Option : 1

Q.10 A @ B means ‘A is the mother-in-law of B’.
A & B means ‘A is the mother of B’.
A # B means ‘A is the husband of B’.
A % B means ‘A is the brother of B’.
If G @ V # K & C % M, then how is G related to M?

Ans 1. Maternal grandmother

2. Mother’s sister

3. Great-grandmother

4. Mother

Question ID : 26433069619
Status : Answered

Chosen Option : 1
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Q.11

Ans

1. 

2. 

3. 

4. 

Question ID : 26433069354
Status : Answered

Chosen Option : 1

Q.12 In a certain code language, 'BABY’ is written as '20' and 'ADULTS' is written as
'30'.How will 'WOMAN' be written in that language?

Ans 1. 25 

2. 20 

3. 35 

4. 30 

Question ID : 26433069551
Status : Answered

Chosen Option : 1
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Q.13 Which of the following letters will replace the question mark (?) and complete the
following letter series?
S, N, G, V, I, ?

Ans 1. R

2. Q

3. S

4. T

Question ID : 26433067283
Status : Not Answered

Chosen Option : --

Q.14 Six people J, K, L, M, N and O are sitting around a circular table, facing the centre. M is
the immediate neighbour of O and J. J is sitting second to the right of K. L is sitting
second to the right of N. Who is sitting between L and N when considered from the
right of N?

Ans 1. O

2. J

3. M

4. K

Question ID : 26433081518
Status : Answered

Chosen Option : 4

Q.15 Select the option that is related to the third word in the same way as the second word
is related to the first word (The words must be considered as meaningful English
words and must not be related to each other based on the number of
letters/consonants/vowels in the word).
Germ : Disease :: War : ________

Ans 1. Destruction 

2. Bomb 

3. Country

4. Gun

Question ID : 26433078828
Status : Answered

Chosen Option : 1

Q.16 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
UCZE, BXGL, ISNS, ?, WIBG

Ans 1. FMVT

2. PBNW

3. FQNR

4. PNUZ

Question ID : 26433074738
Status : Not Answered

Chosen Option : --
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Q.17 In a certain language, ABROAD is written as RBAOAD, ACCEPT is written as CCAEPT.
How will ACTIVE be written in the same language?

Ans 1. ZXGREV

2. TCAIVE

3. TCAEVI

4. EVITCA

Question ID : 26433074588
Status : Answered

Chosen Option : 2

Q.18 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)
Musicians : Band :: Soldier : ?

Ans 1. War

2. Police

3. Army

4. Border

Question ID : 26433067368
Status : Answered

Chosen Option : 3

Q.19

Ans
1. 

2. 

3. 

4. 

Question ID : 26433085559
Status : Answered

Chosen Option : 4
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Q.20 Five people P, Q, R, S and T are seated in a straight row, all facing the north. Exactly
three people are seated to the right of S. P and Q are not occupying any end seats. T is
seated third to the left of Q. Where is R sitting?

Ans 1. Second to the left of S

2. Immediate right of Q

3. Immediate left of Q

4. Second to the left of T

Question ID : 26433074525
Status : Answered

Chosen Option : 2

Q.1 Which of the following states is NOT associated with the classical dance form of
Chhau?

Ans 1. Odisha

2. West Bengal

3. Tamil Nadu

4. Jharkhand

Question ID : 26433086709
Status : Answered

Chosen Option : 3

Q.2 The official motto of the 36th edition of the National Games 2022 of India
was_______________.

Ans 1. Celebrating health through sports

2. Celebrating secularism through sports

3. Celebrating unity through sports

4. Celebrating freedom through sports

Question ID : 264330115949
Status : Not Answered

Chosen Option : --

Q.3 Who among the following political leaders became the chief minister of Bihar, India in
August 2022?

Ans 1. Tejashwi Yadav

2. Nitish Kumar

3. Tarkishore Prasad

4. Renu Devi

Question ID : 264330114900
Status : Answered

Chosen Option : 2

Section : Part-B-General Knowledge and General awareness
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Q.4 If loan exposure is supported by collateral, it’s said to be _________.
Ans 1. poor credit

2. unsecured credit

3. high credit

4. secured credit

Question ID : 264330115297
Status : Answered

Chosen Option : 2

Q.5 Deendayal Port, is a ____ port located in Kandla, Gujarat.
Ans 1. new

2. temporary

3. tidal

4. small

Question ID : 264330115544
Status : Not Answered

Chosen Option : --

Q.6 Statutory body of higher education, which was set up during the first five year plan in
India,__________.

Ans 1. National Council for Teacher Education

2. Medical Council of India 

3. All India Council of Technical Education

4. University Grants Commission

Question ID : 264330115366
Status : Answered

Chosen Option : 3

Q.7 The Governor of the state is appointed by the ________.
Ans 1. Prime minister

2. President

3. Prime minister (on the advice of the central government)

4. Chief Minister (on the advice of the central government)

Question ID : 26433086671
Status : Answered

Chosen Option : 2

Q.8 The north-west part of India receives rainfall in winter due to __________.
Ans 1. the south-west monsoon

2. the north-west monsoon

3. western disturbance

4. the retreating of the monsoon

Question ID : 26433089657
Status : Answered

Chosen Option : 3
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Q.9 The term "Juvenile" under Juvenile Justice (Care and Protection of Children) Act, 2015
refers to a person ________.

Ans 1. below 16 years of age

2. below 18 years of age

3. below 15 years of age

4. below 12 years of age

Question ID : 264330116221
Status : Not Answered

Chosen Option : --

Q.10 Srimanta Sankardeva received recognition for which dance form?
Ans 1. Mohiniyattam

2. Kuchipudi

3. Sattriya

4. Creative dance

Question ID : 264330115875
Status : Not Answered

Chosen Option : --

Q.11 Which among the following is incorrect pair of physical quantity and unit of
measurement?

Ans 1. Power - Watt

2. Pressure - Newton

3. Frequency - Hertz

4. Energy - Joule

Question ID : 264330115148
Status : Answered

Chosen Option : 2

Q.12 Who among the following found it more difficult to follow the rules of Jainism?
Ans 1. Mahajans

2. Artisans

3. Traders

4. Peasants

Question ID : 26433085211
Status : Not Answered

Chosen Option : --
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Q.13 In which year was Swarnajayanti Gram Swarozgar Yojana launched in India?
Ans 1. 2000

2. 1999

3. 2005

4. 2008

Question ID : 264330116075
Status : Not Answered

Chosen Option : --

Q.14 The term ‘Mini Constitution’ is used for which Constitutional Amendment Act of the
Indian Constitution?

Ans 1. 38th

2. 42nd

3. 40th

4. 44th

Question ID : 26433090661
Status : Answered

Chosen Option : 2

Q.15 Antyodaya Anna Yojana (AAY) was launched in which year?
Ans 1. 1997

2. 2000

3. 1999

4. 1998

Question ID : 264330116155
Status : Not Answered

Chosen Option : --

Q.16 Humus, a dark colored amorphous substance is formed as a result of which process?
Ans 1. fragmentation

2. leaching

3. humification

4. mineralisation

Question ID : 264330115251
Status : Answered

Chosen Option : 3

Q.17 Dhyan Chand was a legendary Player of which of the following sports?
Ans 1. Cricket

2. Hockey

3. Tennis

4. Football

Question ID : 264330116289
Status : Answered

Chosen Option : 2
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Q.18 In _________, Gandhiji held a Satyagraha at Ahmedabad to solve the dispute between
the owners and workers of a cotton mill in the city.

Ans 1. 1917

2. 1916

3. 1915

4. 1918

Question ID : 264330106574
Status : Not Answered

Chosen Option : --

Q.19
The ______ edition of the Rajasthan International Folk Festival was organized from 6th
to 10th October 2022.

Ans 1. 12th

2. 11th

3. 13th

4. 10th

Question ID : 264330115086
Status : Not Answered

Chosen Option : --

Q.20 Who replaced Sanjay Kumar Verma as the Indian Ambassador to Japan?
Ans 1. Sibi George

2. Gopal Baglay

3. Sunil Arora

4. Naveen Srivastava

Question ID : 264330115000
Status : Not Answered

Chosen Option : --

Q.1 Dev and Rohit can do a work in 12 and 36 days, respectively. Starting with Dev, they
work on alternate days. When will the work be completed?

Ans 1. 18 days

2. 20 days

3. 25 days

4. 12 days

Question ID : 26433074942
Status : Answered

Chosen Option : 1

Section : Part-C-Elementary Mathematics
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Q.2 If the number 715*42324 is completely divisible by 3, then find the largest whole
number in the place of *,

Ans 1. 3

2. 2

3. 8

4. 5

Question ID : 26433079902
Status : Answered

Chosen Option : 2

Q.3 In a 5 km race, X, Y and Z, each running at a uniform speed, get the gold, silver, and
bronze medals, respectively. If X beats Y by 0.5 km and Y beats Z by 0.5 km, then by
how many metres does X beat Z?

Ans 1. 960 m

2. 975 m

3. 950 m

4. 1,000 m

Question ID : 26433076235
Status : Answered

Chosen Option : 4

Q.4 A new car costs Rs. 1280000. In the first year its value drops by 25 percent. What is it
worth at the end of the first year?

Ans 1. Rs. 1050000

2. Rs. 960000

3. Rs. 990000

4. Rs. 850000

Question ID : 264330116825
Status : Answered

Chosen Option : 2

Q.5 Ashok bought a laptop for ₹60,000 and sold it for ₹72,000. What is the percentage
profit on the sale of laptop?

Ans 1. 

2. 

3. 

4. 

Question ID : 26433082502
Status : Answered

Chosen Option : 2
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Q.6 A shopkeeper claims to sell his articles at Rs.40 per kg which costs him Rs.50 per kg.
But while selling he uses false weight and gives only 640 gm instead of 1 kg. What is
his profit percentage?

Ans 1. 15%

2. 10%

3. 25%

4. 20%

Question ID : 26433076093
Status : Not Answered

Chosen Option : --

Q.7 Determine the fourth proportional to 125 m, 118 m, 88 m. (Consider up to two
decimals)

Ans 1. 83.07 m

2. 89.07 m

3. 73.07 m

4. 79.07 m

Question ID : 26433081031
Status : Not Answered

Chosen Option : --

Q.8 If the sum of two numbers is 60 and the HCF and LCM of these numbers are 5 and 175
respectively, then the sum of the reciprocals of the numbers is:

Ans
1. 

2. 

3. 

4. 

Question ID : 26433082353
Status : Not Answered

Chosen Option : --

Q.9 In a race of 500 meters, Q can give a head start of 50 meters to P and R can give a
head start of 100 meters to Q to complete the race at the same time. Find the head
start that R can give to P to complete this race at the same time.

Ans 1. 260 metres

2. 160 metres

3. 140 metres

4. 240 metres

Question ID : 26433076278
Status : Not Answered

Chosen Option : --
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Q.10

Ans 1. 523.9  

2. 433.8  

3. 520.9

4. 550.9 

Question ID : 26433075252
Status : Answered

Chosen Option : 1

Q.11 A sum on compound interest amounts to Rs.2,809 in 2 years and Rs.2,977.54 in 3
years. The rate per cent per annum is:

Ans 1. 12%

2. 6%

3. 10%

4. 8%

Question ID : 26433075157
Status : Not Answered

Chosen Option : --

Q.12 The single discount equivalent to three successive discounts of 20%, 10% and 2% is:
Ans 1. 32%

2. 29.56%

3. 30.44%

4. 29.44%

Question ID : 26433062635
Status : Answered

Chosen Option : 4

Q.13 Amol can do a piece of work in 96 days and Isha can do the same work in 60 days.
They worked together for 30 days and then Isha left the work. Find the days taken by
Amol to finish the remaining work.

Ans 1. 22 days

2. 24 days

3. 12 days

4. 18 days

Question ID : 264330116905
Status : Answered

Chosen Option : 4
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Q.14 Somaraj borrowed an amount of Rs.11,550 at an interest rate of 10% per annum,
compounded annually. He paid the entire amount in two equal annual instalments.
What is the value of each instalment?

Ans 1. Rs.5775

2. Rs.4455

3. Rs.7755

4. Rs.6655

Question ID : 26433075737
Status : Answered

Chosen Option : 4

Q.15 In an election, two candidates were against each other. One candidate received 44%
votes and lost the election by 7488 votes. How many votes did the winner receive?

Ans 1. 39444

2. 39544

3. 35944

4. 34944

Question ID : 26433080377
Status : Answered

Chosen Option : 3

Q.16

Ans 1. 51 m2

2. 50 m2

3. 53 m2

4. 52 m2

Question ID : 26433075525
Status : Answered

Chosen Option : 1

Q.17 If 45a + 45b = 6750, then find the average of a and b.
Ans 1. 150 

2. 75

3. 95 

4. 85

Question ID : 26433076171
Status : Answered

Chosen Option : 2
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Q.18 A company offers a 30% rebate on the marked price of a product. The retailer offers
another 15% rebate on the reduced price. The two reductions are equivalent to a single
reduction of:

Ans 1. 40.5 Percent

2. 35.5 Percent

3. 42.0 Percent

4. 45.5 Percent

Question ID : 26433082715
Status : Answered

Chosen Option : 1

Q.19 4 years ago, the average age of a family of 4 members was 16 years. A baby is born
today. What will be the present average age of 5 members of the family?

Ans 1. 15 years

2. 22 years

3. 18 years

4. 16 years

Question ID : 26433079762
Status : Not Answered

Chosen Option : --

Q.20 The sum of three numbers is 135. If the ratio of the first to the second number is 4 : 5,
and that of the second to the third number is 5 : 6, then the first number is:

Ans 1. 36

2. 45

3. 54

4. 64

Question ID : 26433080116
Status : Answered

Chosen Option : 1

Q.1 Select the most appropriate synonym of the word ‘stimulate’ from the following
sentence.

His jovial nature energises and charms the whole auditorium.
Ans 1. Energises

2. Charms

3. Jovial

4. Auditorium

Question ID : 26433072261
Status : Answered

Chosen Option : 3

Section : Part-D-English
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Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The invitation card very clearly mentions that the entry in the show will be closed at 6
p.m.

Ans 1. entry about the show will be

2. entry over the show will be

3. entry on the show will be

4. entry to the show will be

Question ID : 264330100988
Status : Answered

Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blank.

There was a story about a kind tree and a little boy. He used to sit _________ the shade
of the tree.

Ans 1. near 

2. in

3. with

4. beside

Question ID : 26433072729
Status : Answered

Chosen Option : 2

Q.4 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The forest ranger always / treats all the wild animals / in his area very kindly.
Ans 1. treats all the wild animals

2. in his area very kindly

3. No error

4. The forest ranger always

Question ID : 26433073762
Status : Answered

Chosen Option : 3

Q.5 Select the most appropriate ANTONYM to substitute the underlined word in the given
sentence.

The evasive nature of the politician is what is making her a poor choice for the post.
Ans 1. freaky 

2. elusive

3. greasy

4. truthful

Question ID : 26433074012
Status : Not Answered

Chosen Option : --
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Q.6 Select the most appropriate synonym of the given word.

Impress
Ans 1. Anxious 

2. Endure 

3. Influence 

4. Suffice 

Question ID : 26433073395
Status : Answered

Chosen Option : 3

Q.7 Select the most appropriate meaning of the given idiom.

In the long run
Ans 1. Purposeful refusing

2. Simultaneously

3. In the end

4. Careful running

Question ID : 26433073711
Status : Answered

Chosen Option : 2

Q.8 Select the INCORRECTLY spelt word.
Ans 1. Palpable

2. Endavour

3. Reckless

4. Rubbish

Question ID : 26433073651
Status : Answered

Chosen Option : 2

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The division of labour is the second strategy to possess money.
Ans 1. to build wealth 

2. to make physique  

3. to give support  

4. to make strategy

Question ID : 26433088510
Status : Answered

Chosen Option : 1
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Q.10 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word
and select its correct spelling.

She needs to visit a phyziotherapist.
Ans 1. Physeotherapist

2. Fiziotherapist

3. Physiotherapist

4. Fisiotherapist

Question ID : 26433073554
Status : Answered

Chosen Option : 3

Q.11 Select the most appropriate ANTONYM of the given word.
Capture

Ans 1. Abolish

2. Establish

3. Liberate

4. Seize

Question ID : 26433086343
Status : Answered

Chosen Option : 3

Q.12 Select the word that is similar in meaning to the underlined word.

It was difficult to find a police officer who was not partial.
Ans 1. Coward

2. Weak

3. Corrupt

4. Biased

Question ID : 26433087946
Status : Answered

Chosen Option : 3

Q.13 Select the most appropriate meaning of the given idiom.

Armed to the teeth
Ans 1. Carrying a lot of weapons 

2. Decide to continue in spite of difficulties

3. Very frustrated

4. Very difficult to do  

Question ID : 26433072682
Status : Answered

Chosen Option : 4
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Q.14 Select the most appropriate ANTONYM of the given word.

Hesitate
Ans 1. Reform

2. Vacillate

3. Imitate

4. Resolve

Question ID : 26433088494
Status : Answered

Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the given word.

Reluctant
Ans 1. Cautious  

2. Willing

3. Resistant  

4. Miserable

Question ID : 26433071968
Status : Answered

Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tourists Travelling(1) _______ Jammu and Kashmir have another attraction – a floating post
office on the Dal Lake in Srinagar, the first in the country. ‘Floating Post Office, Dal Lake –
claimed to be the only one such post office in the world – is (2) ______ on an intricately
carved maroon houseboat, fastened on the western edge of the Dal Lake.
This post office lets you (3) _____ all the regular postal services available in the country while
being afloat. The seal used on everything posted from the Floating Post Office is unique –
along with the date and address. It bears the design of a boatman rowing a Shikara on the
Dal Lake. The special feature of this post office is that letters posted from here carry a special
design which has the picturesque scenery of Dal Lake and Srinagar city. These pictures reach
wherever these letters are posted to and (4) _______ promote Kashmir as a tourist
destination across the world.
This is actually a heritage post office that has existed since British times. It was called the
Nehru Park Post Office before 2011. But after that the chief postmaster John Samuel
renamed it as ‘Floating Post Office’.
The post office’s houseboat has two small rooms – one (5) _____ as the office and the other
a small museum that traces the philatelic history of the state postal department. It has a shop
that sells postage stamps and other products.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans 1. from 

2. beside

3. by

4. to

Question ID : 26433060960
Status : Answered

Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tourists Travelling(1) _______ Jammu and Kashmir have another attraction – a floating post
office on the Dal Lake in Srinagar, the first in the country. ‘Floating Post Office, Dal Lake –
claimed to be the only one such post office in the world – is (2) ______ on an intricately
carved maroon houseboat, fastened on the western edge of the Dal Lake.
This post office lets you (3) _____ all the regular postal services available in the country while
being afloat. The seal used on everything posted from the Floating Post Office is unique –
along with the date and address. It bears the design of a boatman rowing a Shikara on the
Dal Lake. The special feature of this post office is that letters posted from here carry a special
design which has the picturesque scenery of Dal Lake and Srinagar city. These pictures reach
wherever these letters are posted to and (4) _______ promote Kashmir as a tourist
destination across the world.
This is actually a heritage post office that has existed since British times. It was called the
Nehru Park Post Office before 2011. But after that the chief postmaster John Samuel
renamed it as ‘Floating Post Office’.
The post office’s houseboat has two small rooms – one (5) _____ as the office and the other
a small museum that traces the philatelic history of the state postal department. It has a shop
that sells postage stamps and other products.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans 1. build 

2. was built

3. building

4. built

Question ID : 26433060961
Status : Answered

Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tourists Travelling(1) _______ Jammu and Kashmir have another attraction – a floating post
office on the Dal Lake in Srinagar, the first in the country. ‘Floating Post Office, Dal Lake –
claimed to be the only one such post office in the world – is (2) ______ on an intricately
carved maroon houseboat, fastened on the western edge of the Dal Lake.
This post office lets you (3) _____ all the regular postal services available in the country while
being afloat. The seal used on everything posted from the Floating Post Office is unique –
along with the date and address. It bears the design of a boatman rowing a Shikara on the
Dal Lake. The special feature of this post office is that letters posted from here carry a special
design which has the picturesque scenery of Dal Lake and Srinagar city. These pictures reach
wherever these letters are posted to and (4) _______ promote Kashmir as a tourist
destination across the world.
This is actually a heritage post office that has existed since British times. It was called the
Nehru Park Post Office before 2011. But after that the chief postmaster John Samuel
renamed it as ‘Floating Post Office’.
The post office’s houseboat has two small rooms – one (5) _____ as the office and the other
a small museum that traces the philatelic history of the state postal department. It has a shop
that sells postage stamps and other products.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans 1. seen

2. avail 

3. account 

4. mileage

Question ID : 26433060962
Status : Answered

Chosen Option : 2
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tourists Travelling(1) _______ Jammu and Kashmir have another attraction – a floating post
office on the Dal Lake in Srinagar, the first in the country. ‘Floating Post Office, Dal Lake –
claimed to be the only one such post office in the world – is (2) ______ on an intricately
carved maroon houseboat, fastened on the western edge of the Dal Lake.
This post office lets you (3) _____ all the regular postal services available in the country while
being afloat. The seal used on everything posted from the Floating Post Office is unique –
along with the date and address. It bears the design of a boatman rowing a Shikara on the
Dal Lake. The special feature of this post office is that letters posted from here carry a special
design which has the picturesque scenery of Dal Lake and Srinagar city. These pictures reach
wherever these letters are posted to and (4) _______ promote Kashmir as a tourist
destination across the world.
This is actually a heritage post office that has existed since British times. It was called the
Nehru Park Post Office before 2011. But after that the chief postmaster John Samuel
renamed it as ‘Floating Post Office’.
The post office’s houseboat has two small rooms – one (5) _____ as the office and the other
a small museum that traces the philatelic history of the state postal department. It has a shop
that sells postage stamps and other products.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans 1. however

2. in hindsight 

3. than

4. hence

Question ID : 26433060963
Status : Answered

Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Tourists Travelling(1) _______ Jammu and Kashmir have another attraction – a floating post
office on the Dal Lake in Srinagar, the first in the country. ‘Floating Post Office, Dal Lake –
claimed to be the only one such post office in the world – is (2) ______ on an intricately
carved maroon houseboat, fastened on the western edge of the Dal Lake.
This post office lets you (3) _____ all the regular postal services available in the country while
being afloat. The seal used on everything posted from the Floating Post Office is unique –
along with the date and address. It bears the design of a boatman rowing a Shikara on the
Dal Lake. The special feature of this post office is that letters posted from here carry a special
design which has the picturesque scenery of Dal Lake and Srinagar city. These pictures reach
wherever these letters are posted to and (4) _______ promote Kashmir as a tourist
destination across the world.
This is actually a heritage post office that has existed since British times. It was called the
Nehru Park Post Office before 2011. But after that the chief postmaster John Samuel
renamed it as ‘Floating Post Office’.
The post office’s houseboat has two small rooms – one (5) _____ as the office and the other
a small museum that traces the philatelic history of the state postal department. It has a shop
that sells postage stamps and other products.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans 1. guides

2. serves 

3. handles

4. directs

Question ID : 26433060964
Status : Answered

Chosen Option : 2

Q.1 ‘जैसा उिचत हो वैसा’ इस वा�ांश के िलए साथ�क श� है -
Ans 1. वांिछत

2. यथालाभ

3. अभी��त

4. यथोिचत

Question ID : 26433062335
Status : Not Answered

Chosen Option : --

Q.2 “प� म� जो कहा है, सब झठू है।”
उपरो� वा� म� ि�या स��ी �ुिट पहचानकर िन�िल�खत म� से शु� वा� का चयन कीिजए।

Ans 1. प� म� जो िलखा है, सब झठू है।

2. प� म� जो �� है, सब झठू है।

3. प� म� जो बताया है, सब झठू है।

4. प� म� जो भेजा है, सब झठू है।

Question ID : 26433066976
Status : Not Answered

Chosen Option : --

Section : Part-D-Hindi

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.3 ‘वह �ार पर खड़ा है।’ अिन�यवाचक सव�नाम का �योग कर इस वा� को िल�खए।
Ans 1. म� �ार पर खड़ा �ँ।

2. कोई �ार पर खड़ा है।

3. वे �ार पर खड़े ह�।

4. वह �यं �ार पर खड़ा है।

Question ID : 26433062319
Status : Not Answered

Chosen Option : --

Q.4 वृ� पर ढेरो ंफल लगे ह�।
उपरो� वा� म� रेखांिकत श� के उिचत पया�यवाची श� का चयन िवक�ो ंम� से कीिजए।

Ans 1. वसन

2. अनार

3. त�

4. मृग��

Question ID : 26433079723
Status : Not Answered

Chosen Option : --

Q.5 िन�िल�खत वा� म� रेखांिकत खंड के �थान पर �यु� होने वाले सबसे उपयु� िवक� का चयन
कीिजए-

उसकी आँखो ंसे शोले टपक पड़े।
Ans 1. अँगारे

2. पसीना

3. आँसू

4. �ोध

Question ID : 26433069748
Status : Not Answered

Chosen Option : --

Q.6 िन�िल�खत वा�ांश के िलए एक साथ�क श� चुिनए।
िजसे न जीता जा सके

Ans 1. अजेय 

2. अमर 

3. अजर 

4. अपराजय

Question ID : 26433069986
Status : Not Answered

Chosen Option : --
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Q.7 िन�िल�खत म� से शु� वा� है-
Ans 1. तुम िकताब पढ़त हो। 

2. तुम िकताब पठते हो। 

3. तुम िकतब पढ़ते हो।

4. तुम िकताब पढ़ते हो। 

Question ID : 26433066839
Status : Not Answered

Chosen Option : --

Q.8 ‘काला अ�र भ�स बराबर’ मुहावरे का सही अथ� है-
Ans 1.  ब�त होिशयार होना

2.  पढने म� अ�ा होना

3.  अ�ी भ�स होना

4.  िनर�र होना

Question ID : 26433062608
Status : Not Answered

Chosen Option : --

Q.9 “आज संसद म� बजट के ऊपर बहस होगी।”
उपरो� वा� म� कारक स��ी �ुिट पहचानकर िन�िल�खत म� से शु� वा� का चयन कीिजए।

Ans 1. आज संसद म� बजट पर बहस होगी।

2. आज संसद की बजट के ऊपर बहस होगी।

3. आज संसद से बजट पर बहस होगी।

4. आज संसद पर बजट की बहस होगी।

Question ID : 26433066969
Status : Not Answered

Chosen Option : --

Q.10 ‘मनु� अपने कम� के अनुसार फल पाता है।’
उपरो� वा� म� �यु� 'फल' श� िन� म� से िकस अथ� को �� करता है?

Ans 1. िवकास

2. प�रणाम

3. िवनाश

4. वृ� का फल  

Question ID : 26433080911
Status : Not Answered

Chosen Option : --
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Q.11 पुिलस ने मयंक से जब चोरी के बारे म� पूछा तो मयंक _________ झठू बोल गया।
�र� �थान की पूित� उिचत मुहावरा श� �रा कीिजए।

Ans 1. काला  

2. सफेद

3. सभी  

4. एकदम

Question ID : 26433062615
Status : Not Answered

Chosen Option : --

Q.12 ‘यह नाटक ब�त अ�ी है’ – इस वा� म� िकस �कार की �ुिट है, पहचान कर�?
Ans 1. पद�म संबंधी

2. वचन संबंधी

3. िलंग संबंधी

4. अनाव�क श� संबंधी  

Question ID : 26433067107
Status : Not Answered

Chosen Option : --

Q.13 समु� की आग
ऊपर िदए गए वा�ांश के िलए एक श� �ा होगा?

Ans 1. बड़वानल

2. जठरानल  

3. दावानल  

4. बड़वामुख

Question ID : 26433090350
Status : Not Answered

Chosen Option : --

Q.14 िन�िल�खत वा� म� रेखांिकत श� के िवलोम श� का �योग करके �र� �थान की पूित� कीिजए।
सगुण और _______ दोनो ंही परमा�ा के ��प ह�।

Ans 1. िनम�ल

2. िवपुल

3. िनगु�ण

4. सां�

Question ID : 26433091345
Status : Not Answered

Chosen Option : --
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Q.15 िन�िल�खत म� से ‘चपला’ का अथ� नही ंहोता है-
Ans 1. ल�ी

2. चंचल

3. िबजली

4. मन

Question ID : 26433080949
Status : Not Answered

Chosen Option : --

Comprehension:

िन�िल�खत ग�ांश म� कुछ श�ो ंको हटा िदया गया है। िदए गए िवक�ो ंकी सहायता से �र� �थानो ंकी पूित�
कीिजए। ��ेक सं�ा के िलए सबसे उपयु� िवक� का चयन कीिजए।
 अनुशासन के िबना जीवन िन��य और 1. _________ हो जाता है �ों�िक योजना के अनुसार कुछ भी नही ं
होता है। 2. _______ हम� िकसी भी काय� को पूरा करना है, और सही तरीके से अपनी रणनीित को लागू करना
है, तो हम� पहले अनुशासन म� रहने की 3. _______ है। अनुशासन चीजो ंको 4. ______ बनाता है और हमारे
जीवन म� 5. _______ लाता है।

SubQuestion No : 16
Q.16 �र� �थान 1 की पूित� के िलए सबसे उपयु� िवक� का चयन कर�।
Ans 1. आसान

2. मज़ेदार

3. बेकार

4. सहज

Question ID : 264330110897
Status : Not Answered

Chosen Option : --

Comprehension:

िन�िल�खत ग�ांश म� कुछ श�ो ंको हटा िदया गया है। िदए गए िवक�ो ंकी सहायता से �र� �थानो ंकी पूित�
कीिजए। ��ेक सं�ा के िलए सबसे उपयु� िवक� का चयन कीिजए।
 अनुशासन के िबना जीवन िन��य और 1. _________ हो जाता है �ों�िक योजना के अनुसार कुछ भी नही ं
होता है। 2. _______ हम� िकसी भी काय� को पूरा करना है, और सही तरीके से अपनी रणनीित को लागू करना
है, तो हम� पहले अनुशासन म� रहने की 3. _______ है। अनुशासन चीजो ंको 4. ______ बनाता है और हमारे
जीवन म� 5. _______ लाता है।

SubQuestion No : 17
Q.17 �र� �थान 2 की पूित� के िलए सबसे उपयु� िवक� का चयन कर�।
Ans 1. मगर

2. कभी

3. अगर

4. जबिक

Question ID : 264330110898
Status : Not Answered

Chosen Option : --
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Comprehension:

िन�िल�खत ग�ांश म� कुछ श�ो ंको हटा िदया गया है। िदए गए िवक�ो ंकी सहायता से �र� �थानो ंकी पूित�
कीिजए। ��ेक सं�ा के िलए सबसे उपयु� िवक� का चयन कीिजए।
 अनुशासन के िबना जीवन िन��य और 1. _________ हो जाता है �ों�िक योजना के अनुसार कुछ भी नही ं
होता है। 2. _______ हम� िकसी भी काय� को पूरा करना है, और सही तरीके से अपनी रणनीित को लागू करना
है, तो हम� पहले अनुशासन म� रहने की 3. _______ है। अनुशासन चीजो ंको 4. ______ बनाता है और हमारे
जीवन म� 5. _______ लाता है।

SubQuestion No : 18
Q.18 �र� �थान 3 की पूित� के िलए सबसे उपयु� िवक� का चयन कर�।
Ans 1. मू�हीन

2. अवशयक

3. अनाव�कता

4. आव�कता

Question ID : 264330110899
Status : Not Answered

Chosen Option : --

Comprehension:

िन�िल�खत ग�ांश म� कुछ श�ो ंको हटा िदया गया है। िदए गए िवक�ो ंकी सहायता से �र� �थानो ंकी पूित�
कीिजए। ��ेक सं�ा के िलए सबसे उपयु� िवक� का चयन कीिजए।
 अनुशासन के िबना जीवन िन��य और 1. _________ हो जाता है �ों�िक योजना के अनुसार कुछ भी नही ं
होता है। 2. _______ हम� िकसी भी काय� को पूरा करना है, और सही तरीके से अपनी रणनीित को लागू करना
है, तो हम� पहले अनुशासन म� रहने की 3. _______ है। अनुशासन चीजो ंको 4. ______ बनाता है और हमारे
जीवन म� 5. _______ लाता है।

SubQuestion No : 19
Q.19 �र� �थान 4 की पूित� के िलए सबसे उपयु� िवक� का चयन कर�।
Ans 1. दुग�म

2. आसान

3. दुभ��

4. किठन

Question ID : 264330110900
Status : Not Answered

Chosen Option : --
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Comprehension:

िन�िल�खत ग�ांश म� कुछ श�ो ंको हटा िदया गया है। िदए गए िवक�ो ंकी सहायता से �र� �थानो ंकी पूित�
कीिजए। ��ेक सं�ा के िलए सबसे उपयु� िवक� का चयन कीिजए।
 अनुशासन के िबना जीवन िन��य और 1. _________ हो जाता है �ों�िक योजना के अनुसार कुछ भी नही ं
होता है। 2. _______ हम� िकसी भी काय� को पूरा करना है, और सही तरीके से अपनी रणनीित को लागू करना
है, तो हम� पहले अनुशासन म� रहने की 3. _______ है। अनुशासन चीजो ंको 4. ______ बनाता है और हमारे
जीवन म� 5. _______ लाता है।

SubQuestion No : 20
Q.20 �र� �थान 5 की पूित� के िलए सबसे उपयु� िवक� का चयन कर�।
Ans 1. असफलता

2. सफलता

3. बेरोजगारी

4. किठनता

Question ID : 264330110901
Status : Not Answered

Chosen Option : --
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